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QUESTION 1

You want to review AppTrack statistics to determine the characteristics of the traffic being monitored. Which operational
mode command would accomplish this task on an SRX Series device?

A. show services application-identification statistics applications
B. show services application-identification application detail

C. show security application-tracking counters

D. show services security-intelligence statistics

Correct Answer: A

QUESTION 2

What is a function of UTM?
A. AppFW

B. IPsec

C. content filtering

D. bridge mode

Correct Answer: C

QUESTION 3

What are three components of Software-Defined Secure Networks? (Choose three.)
A. Contrail

B. Sky ATP

C. SRX Series device

D. Security Director

E. Network Director

Correct Answer: BCD

QUESTION 4

You have been notified by your colocation provider that your infrastructure racks will no longer be adjacent to each
other.
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In this scenario, which technology would you use to secure all Layer 2 and Layer 3 traffic between racks?
A. IPsec

B. GRE

C. 802.1BR

D. MACsec

Correct Answer: D

QUESTION 5

Click the Exhibit button.
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You have enabled mixed mode on an SRX Series device. You are unable to commit the configuration shown in the
exhibit.

What is the problem in this scenario?
A. A Layer 3 interface has not been configured on VLAN v10.
B. The trust zone cannot contain both Layer 2 and Layer 3 interfaces.

C. STP is not enabled under the host-inbound-traffic system services hierarchy on the trust and protected security
zones.

D. An IRB interface has not been configured.

Correct Answer: B
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